


 

 

 

 



 

 

 

 



 

 

 



 

 

 

 



 

 

𝑟𝑖𝑗 =

{
 

 
𝑥𝑖𝑗

𝑀𝑎𝑥 𝑥𝑖𝑗
      𝑗𝑖𝑘𝑎 𝑗 𝑖𝑎𝑙𝑎ℎ 𝑎𝑡𝑟𝑖𝑏𝑢𝑡 𝑘𝑒𝑢𝑛𝑡𝑢𝑛𝑔𝑎𝑛 (𝑏𝑒𝑛𝑒𝑓𝑖𝑡)

𝑀𝑖𝑛 𝑥𝑖𝑗

𝑥𝑖𝑗
                     𝑗𝑖𝑘𝑎  𝑗  𝑖𝑎𝑙𝑎ℎ  𝑎𝑡𝑟𝑖𝑏𝑢𝑡  𝑏𝑖𝑎𝑦𝑎  (𝑐𝑜𝑠𝑡)



 

 

 

 



 

 

𝑟1,1 =
100

max (100, 100, 80, 80, 60, 60, 60, 40, 40, 40, 40, 40, 40, 40, 60, 40, 40, 40, 40, 20)
=
100

100
= 1

𝑟2,1 =
20

max (20, 40, 20, 80, 40, 20, 80, 40, 20, 80, 40, 20, 80, 40, 20, 80, 40, 20, 80, 40)
=
20

80
= 0,25

𝑟3,1 =
40

max (40, 60, 80, 100, 40, 60, 80, 100, 40, 60, 80, 100, 40, 60, 80, 100, 40, 60, 80, 100)
=
40

100
= 0,4

𝑟4,1 =
min(40, 40, 20, 20, 20, 100, 20, 20, 20, 40, 60, 20, 20, 20, 40, 20, 20, 80, 40, 20)

40
=
20

40
= 0,5



 

 

 

 



 

 



 

 

 

 



 

 


